@SYNERGEE




QTY

PART

KEY

SEAT
FRAME

FOOTING
BOLT M10x55 Partially Threaded

BOLT M3x40
M8 WASHER
M10 WASHER

MI10 BOLT

IF ANY PIECES ARE MISSING, PLEASE CONTACT US IMMEDIATELY:

HELLO@SYNERGEEFITNESS.COM OR 1.855.217.7136



